03089_D T 54T R 5 o8
5 .

@ 7 G

frei

sTamLzes sree FEmiER

HEEpLEHATEQISENBIEVETLE , FRADEH.

Bilgn , H28, ®E. RENBHRERFEFHNKENSESEURNLE
BIE,

REEFHINTFREE  TRFEBHIZ —IHEMNE, NREBEER
KSR ARITHEFBRYHEEE  WAER C B D &,

ME

TEMAE A1 :

BNER, BHEXICFMEETNHRLE(CLAE 1.4305,
HEMHKLZFE(LAE 1.4034,

E455E% 1.4310,

TEHNAE A4 :
IBREE, BELIEFMEENL 1.4404,
EH5%%E 1.4401,

g -

TEHMRA A1 -

BAERHH,

BT F R,

BEE I B KRR E(L, FHEMMN,

THNRAE A4

R E R,
BREEFREN AR BIWLE,
PHEESHE. (LEERIM K,

B
FrERBIM BRI T 52 R o
FNFMEEEERBRSHER , BIER A4 THENEI2EH.

REFEXR :
BRER,

R4 -

E{FE 03099-50,

B FEER 03089,

THNEEZRAL , AT EEIBMH 03094-10,

© norelem www.norelem.com



03089_D NEMEHEBYPRELE , TAFWNEELLEF , THRBNPRR

53

i ! Swi
=Y SW2

-0,02
D-0,04
D1

03089-118903 D | & | 1.4305 b= R 3| Mo6x0,75 |14/255 65|35 8 10 0,8 3 10
B {L4bE

03089-118004 D | A& | 1.4305 b= R 4 M8x1 181295 66| 4 10 13 1 4 12
FW {LabiE

03089-118105 D | A& | 1.4305 b= R 5| M10x1 |21/345 8|75 13 17 1,3 5 12
FW {LabsE

03089-118206 D | A& | 14305 =t RIE 6| M12x1,5 |25/41,7 10/8 | 6 14 19 1,8 6 14
G 2is:

03089-118308 D | A& | 14305 =) RIE 8| M16x1,5 |33| 54 12|10/ 8 19 | 24 2,3 14 28
Gk ens:d

03089-118410 D | A& | 14305 =t RIE 10| M20x1,5 |33| 61 151210 22 | 30 2,8 15 32
Gk eis:

03089-008903 D| & | 14034 b= 2% 3| Mo6x0,75 |14/255 65|35 8 10 0,8 3 10
Gk els:3

03089-008004 D| & | 14034 b P 4 M8x1 181295 66| 4 10 13 1 4 12
Gk els:3

03089-008105 D| A& | 14034 b= P 5| M10x1 |21/345 8|75 13 17 1,3 5 12
B {LhbE

03089-008206 D| A& | 14034 b= 2% 6| M12x1,56 |25/41,7 10/8 | 6 14 19 1,8 6 14
B {LhbE

03089-008308 D| A& | 14034 b= 2% 8| M16x1,5 |33| 54 12|10/ 8 19 | 24 2,3 14 28
FW {LhbE

03089-008410 D| A& | 14034 b= 2% 10| M20x1,5 |33| 61 151210 22 | 30 2,8 15 32
FW {LhbiE

03089-068903 D | & | 14404 by ER 3| M6x0,75 (14255 6|5(35 8 10 0,8 3 10
B

03089-068004 D| & | 14404 Rt TR 4 M8x1 181295 66| 4 10 13 1 4 12
Gk

03089-068105 D | A& | 14404 =t ER 5| M10x1 |21/345 8|75 13 17 1,3 5 12
Gk

03089-068206 D | & | 14404 =) BR 6| M12x1,5 |25/41,7 10/8| 6 14 19 1,8 6 14
Gk

03089-068308 D | & | 14404 A=) it 8| M16x1,5 |33| 54 12|10/ 8 19 | 24 2,3 14 28
ik

03089-068410 D | & | 14404 b %4 [10] M20x1,5 [33] 61 15[12[10 22 | 30 2,8 15 32
Gk

03089-178903 D | & | 14404 b= b= 3| Mo6x0,75 |14/255 65|35 8 10 0,8 3 10
B

© norelem www.norelem.com



03089_D NEMEHEBYPRELE , TAFWNEELLEF , THRBNPRR

53

03089-178004 D N | 1.4404 b= b= 4 M8x1 181295 66| 4 10 13 1 4 12
03089-178105 D %ﬁfﬂ 1.4404 b b 5| M10x1 |21/345 8|75 13 17 1,3 5 12
03089-178206 D iﬁﬂ 1.4404 b= b 6| M12x1,56 |25/41,7 10/8 | 6 14 19 1,8 6 14
03089-178308 D iﬁﬂ 1.4404 b= b= 8| M16x1,5 |33| 54 12|10/ 8 19 | 24 2,3 14 28
03089-178410 D iﬂ 1.4404 bt 5=t [10] M20x1,5 |33] 61 15[12[10 22 | 30 2,8 15 32
03089-0689031 D :W:Z 1.4404 3, HR 3| M6x0,75 [14/255 6|5(35 8 10 0,8 3 10
03089-0680041 D gm 1.4404 15 B 4 M8x1 181295 66| 4 10 13 1 4 12
03089-0681051 D ig:ﬁﬂ 1.4404 mE A ER 5| M10x1 |21/345 8|75 13 17 1,3 5 12
03089-0682061 D %;:ﬂ 1.4404 A B 6| M12x1,5 |25/41,7 10/8 | 6 14 19 1,8 6 14
03089-0683081 D| & | 14404 15 H, ER 8| M16x1,5 |33| 54 12|10/ 8 19 | 24 2,3 14 28
03089-0684101 D %ﬁfﬂ 1.4404 15 H, %4 [10] M20x1,5 [33] 61 15[12[10 22 | 30 2,8 15 32
03089-1789031 D iﬁﬂ 1.4404 W3 A, b= 3| M6x0,75 |14/255 65|35 8 10 0,8 3 10
03089-1780041 D iﬁﬂ 1.4404 3 A, b= 4 M8x1 181295 66| 4 10 13 1 4 12
03089-1781051 D ﬁiﬁﬂ 1.4404 3 A, b= 5| M10x1 |21/345 8|75 13 17 1,3 5 12
03089-1782061 D :W:Z 1.4404 3, =t 6| M12x1,5 |25/41,7 10/8 | 6 14 19 1,8 6 14
03089-1783081 D | & | 14404 L5 Ery=:) 8| M16x1,5 (33| 54 12|10/ 8 19 | 24 2,3 14 28
03089-1784101 D :Z‘Z 1.4404 A & [10| M20x1,5 (33| 61 15/12/10 22 | 30 2,8 15 32

© norelem www.norelem.com



